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Word Search 3 - Easy
Why did the teacher wear sunglasses? Because the students were so bright!

Complete the activity.

BREEDING DEVELOPMENT IMMUNITY ANCESTOR
COLLECT SHELL PORCELAIN FANCIERS
HATCHING HUMIDITY BROODING AUSTRALORP
BACTERIA FERTILITY IMMUNIZE ALBUMIN
INCUBATOR ENVIRONMENT PROTEIN
STORING COCCIDIOSIS SATIETY
TEMPERATURE DISEASE DOMESTICATED

L P M Y O M N A B B D D S N S Y Q R Q D

L D T L X D Z D R N R D B A R G A N S Y

P V V E C O H R E Q A E X M T N E K H R

E Y D N C M V X I V O U E A W I V A E B

D K M V O E S H S Y E A S D B A E C L P

E L X I C S T T H I S L N T I P N T L R

C K U R C T O M U A N P O C R N V Z Y O

F Q E O I I R H M I T C G P E A G J X T

E S L N D C I L I U M C U C M S L M X E

R I Y M I A N C D I B M H B I E T O C I

T M R E O T G R I E B A U I A L N O R N

I M R N S E D P T F T T C N N T X T R P

L U J T I D I E Y A M T A T I G O B S U

I N I H S U S O C N V V T A E T Y R A B

T I G W O Y E U B C W X R E E R Y Y L V

Y Z E F C Z A I I I G F V H F W I L B C

E E H N B C S J B E I R V K K I D A U Q

E Q N V Y U E D B R O O D I N G A T M O

P O R C E L A I N S P T F D W W I V I E

H C O L L E C T E M P E R A T U R E N M

Brooding Box to Tucker Box Total Grade


